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O Zstdsdt=s Ml Bal=s
42,000,000& * 14l 42,000
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XNEetd=s EE2ANEZ2XNE 9,600 9,600 0
== 2,880
Al 6,720
201 B9 9,600 9,600 0
= 2,880
Al 6,720
01 AP 22| H| 9,600 9,600 0]
O xsd=sd dBXNESANE
120,0002 * 80% 9,600
< 2,880
Al 6,720
XEtBsdENS =AY XA 57,332 85,000 N 27,668
= 13,760
Al 43,572
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o 13,760
Al 43 572
12 JIEtE A= 57,332 85,000 N 27,668
O M8F=42 A=EZ8Y X
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== 13,760
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Al 9,800
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o=} 45,000
Al 105,000
307 212t0| & 150,000 0 150,000
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01 M= 4l 4,000 0 4,000
0228 2zt 78
40,0003 * 5001 * 28 4,000
301 LeHBAF 208,800 8,800 200,000
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7,000,000& = 141 = 50/100 8,500
< 2,550
Al 5,950
ste MeMdMED &X 110,000 130,000 A20,000
< 33,000
Al 77,000
402 QI2H X201 M 110,000 130,000 20,000
< 33,000
Al 77,000
02 QI 2 A EZ (01X TH ) 110,000 130,000 220,000
0 SJte HeM=ED &1
20,000,000 * 11= = 50/100 110,000
< 33,000
Al 77,000
A MAHIEZ 2 FE ML 465,650 414,900 50,750
< 139,695
Al 325,955
307 21201 A 465,650 414,900 50,750
< 139,695
Al 325,955
02 QIZHHA AT X 465,650 414,900 50,750
0O &eZ ALE A
2,800,000& = 141 = 50/100 1,400
< 420
Al 980
O e EIIHEH
49,500,000& = 141 = 50/100 24,750
< 7,425
Al 17,325
0O gs =8I 3,300,000& * 190CH = 50/100 313,500
< 94,050
Al 219,450
0O sg&E+ Ml
7,000,000& * 31CH * 50/100 108,500
< 32,550
Al 75,950
O &SR XIl 2,500,000& = 1400 = 50/100 17,500
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= 54,150
Al 126,350
402 QI2H X =20l M 180,500 183,000 A 2,500
= 54,150
Al 126,350
02 CIZEXIEANISEX (0| XM THL) 180,500 183,000 A 2,500
[ = Mg HHEZS(SHM=D|, s2104
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&< 11,700
Al 27,300
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& 19,500
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02 DI AAIE E X 174,000 149,000 25,000
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22 AD B2 #HAY X 21,750 21,750 0
201 et | 1,750 1,750 0
03 #AI2 I 1,750 1,750 0
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Off &t 24

=

Eim
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42,000

402 212t Xt=01 &

= W

135,000
75,000
18,000
42,000

135,000

= Hn W

135,000

135,000

75,000
18,000
42,000

135,000

= M

108,517

32,555
75,962

108,517

307 21201 &

= i

108,517

32,555
75,962

108,517

O
=1
B>
B[
0z
z
e
0%
p=]
40
>

Q

108,517,000& * 14!

= M

108,517

108,517

32,555
75,962

108,517
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439,000

131,700
307,300

494,000

A 55,000

H

Al

439,000

131,700
307,300

494,000

255,000

= M

439,000

439,000

131,700
307,300

494,000

A55,000

St HAMAIE 3YHMD XNH

H

Al

30,000

9,000
21,000

36,000

A 6,000

402 BI2HX=201 M

t

Al

30,000

9,000
21,000

36,000

A 6,000

Mo X
0,000& * 1Al % 50/100

D
o
=]

= M

30,000

30,000

9,000
21,000

36,000

A 6,000

y

H

37,350

14,940
6,723

73,700

A 36,350
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= 6,723
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J| 14,940
& 6,723
Al 15,687
A MOEASE M XS 37,000 9,000 28,000
= 11,100
Al 25,900
402 DIERHE 0| ® 37,000 9,000 28,000
= 11,100
Al 25,900
02 CIZEXIE A EX (0| XM THL) 37,000 9,000 28,000
OI4 - MOFAY S X
74,000,000& = 141 %= 50/100 37,000
& 11,100
Al 25,900
HEHSHAALH (sLXS W) 118,425 112,424 6,001
A2A 83,765 77,484 6,281
A2 (s A ) 83,765 77,484 6,281
101 e1214| 83,765 77,484 6,281
01 E% 83,765 77,484 6,281
0 Z2n224+9 83,765
O ANAe22RLe
11,634 = 122 * 50A|2F = 128 83,765
&l 34,660 34,940 A 280
2AH (=Y A2 ) 34,660 34,940 A 280
201 gBt24Ad| 30,460 30,740 A 280
01 AP 22| H| 19,220 19,500 A 280
[0 Let==d| 10,900
O sSMNEXN 7 20,0003 = 100=A 2,000
O #HEARIID| =4l 3,400
ZEH 100,000 = 1204 * 23l 2,400
Z2ly 100,000& = 3CH * 23| 600
2 AHD| 200,000& ~ 1CH = 23] 400
O #HEARII A28 7L 3,500
D2l EY 300,000& * 3CH = 33| 2,700
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